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UNIT ONE

I . INDUSTRIALIZATION AND ADOLESCENCE

1. The period of adolescence (B ##4), i. e. , the period between childhood and adulthood,
maybe long or short, depending on social expectations and on society”’s definition as to what
consists maturity and adulthood. In primitive societies adolescence is frequently a relatively
short period of time, while in industrial societies with patterns of prolonged education coupled
with laws against child labor, the period of adolescence is much longer and may include most of
the second decade of one’s life. Furthermore, the length of the adolescent period and the defi-
nition of adulthood status may change in a given society as social and economic conditions
change. Examples of this type of change are the disappearance of the frontier in the latter part
of the nineteenth century in the United States, and more universally, the industrialization of
an agricultural society.

2. In modern society, ceremonies for adolescence have lost their formal recognition and sym-
bolic significance and there no longer is agreement as to what constitutes initiation (3} )cere-
monies. Social ones have been replaced by a sequence of steps that lead to increased recognition
and social status. For example, grade school graduation, high school graduation and college
graduation consist such a sequence, and while each step implies certain behavioral changes and
social recognition, the significance of each depends on the socio-economic status and the educa-
tional ambition of the individual. Ceremonies for adolescence have also been replaced by legal
definitions of status roles, rights, privileges and responsibities. It is during the nine years from
the twelfth birthday to the twenty-first that the protective and restrictive aspects of childhood
and minor status are removed and adult privileges and responsibilities are granted. The twelve-
year-old is no longer considered a child and has to pay full fare for train, airplane, theater and
movie tickets. Basically, the individual at this age loses childhood privileges without gainig sig-
nificant adult rights. At the age of sixteen the adolescent is granted certain adult rights which
increases his social status by providing him with more freedom and choices. He now can get a
driver’s license; he can leave public schools; and he can work without the restrictions of child
labor laws. At the age of eighteen the law provides adult responsibilities as well as rights; the
young man can now be a soldier, but he also can marry without parental permission. At the
age of twenty-one the individual obtain/.% his full legal rights as an adult.

3. He now can vote, he can buy liquof, he can enter into financial contracts, and he is enti-
tles to run for public office, No additional basic rights are got as a function of age after majori-
ty status has been got. None of these legal provisions determine at what point adulthood has
been reached but they do point to the prolonged (FE4& ,3 3E) period of adolescence.

(462 words)
NEW WORDS AND PHRASES

1. adult a./n. ERBHREANGED 3. significance n. B, ¥ X, BEH
2. frontier =n. EIE,NH, R, FHHR 4. legal a. FEREY, S8, EM4H
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5. grant v, /n. W8 ETF.ESF:2ZFWH 9. contract n./v. B, 4 H8E,.1TE
responsibility n. AL, FIELL IR 10. provision n. fEN, ¥R, OR
7. individual a. /2. P AB], BAYHEY, Bh4F 11, graduate n. /a. /fv. CKRZEE) M4, BF

-

B AL REWD ¥k
8. financial a. WEHY, &M 12. graduation . ANk
_ * * * *
1. take for granted ; fH 24 R, A Kg-eeee- HPrY4 2. be responsible for; Xfeeeee iy
b
READING COMPREHENSION

Directions: In this part, there are five questions or unfinished statements,each with four sug-
gested answers, Choose the one that you think is the best answer,
1. The period of adolescence is much longer in industrial societies because
A. the definition of maturity has changed
B. the industrialized society is more developed
C. more eduction is provided and laws against child labor are made
D. ceremonies for adolescence have lost their formal recognition and symbolic significance

2. Former social ceremonies that used to mark adolescence have given place to .
A. graduations from schools and colleges B. social recognition
C. socio-economic status D. certain behavioral changes

3. No one can expect to fully enjoy the adulthood special rights until he is
A. 11 years old B. 16 years old C. 21 years old D. between 12 and 21

4. Starting from twenty-two years old,
A. one will get more basic rights
B. the older one becomes, the more basic rights he will have
€. one won’t get more basic rights than when he is 21
D. one will enjoy more rights given by society
5. According to the text, it is true that
A. in the late 19th century in the United States the dividing line between adolescence and
adulthood no longer existed
B. no one can marry without the permission of his parents until the age of twenty-one
C: one is considered to have reached adulthood when he has a driver’s license
D. one is not free from the limit of child labor laws until he can join the army

CLOZE TEST

Directions: In this part, there are ten blanks. You are asked to fill in the blank with a word or
a phrase according to the context. And then check them.

The period __1 adolescence, i. e. , the period _ 2 _childhcod __3 adulthood, may be
4 or_5 ,depending_ 6 social expectations and on society’s as to 7  consists ma-
turity and adulthood. __8 primitive societies adolescence is frequently a relatively short
_9 of time, whilein __10 _societies with patterns of prolonged education coupled with laws
against child labor, the period of adolescence is much longer.

SENTENCE SCRAMBLE

Directions: In this part, you are asked to arrange the words in each group in correct sentence
—_— 2 P



order. Capitalize , punctuate or change the form of verbs or nouns where necessary.
understand, I, this, type of ,change, can, not
no, longer, he, friend, trustful, be, a
political, economic, development, depend on, development
position, your, be replaced, a, new, one, by
be, it, from, nine to eleven, I,come, to, understand, kind, how, be, he,that

DISCUSSION CLUES

oV oW

—

. How do you understand the prolonged period of adolescence?
Do you think you have enjoyed fully the responsibilities and rights as an adult?
3. Do you have some troubles during the period of adolescence?

i

I . PROBLEMS OF LANGUAGE LEARNING AND SOLUTIONS

1. I am going to discuss the basic problems of learning a language first and then I’ll go on to
suggest various possible solutions. The students I have in mind here are those who have been
learning English in order to begin a course of studies taught in that medium.

2. Probably the most fundamental problem that the student meets is the feeling that the
problem is too great for him. Difficulties occur on all sides and progress can be uncertain and
slow. Unkown items of grammar and vocabulary appear in texts which attempt to explain new
and often difficult information. Difficulties with the language interact with difficulties as re-
gards the subject matter. The student reading in his own subjects slows down, and his com-
prehension becomes less secure. He expresses himself slowly and often fails to express his ideas
exactly. He is disappointed to find that under pressure he makes a lot of unnecessary mistakes
in areas where he knows the correct language forms. His social relations are difficult as he can-
not find the right ways quickly enough to keep a conversation going, so his language often be-
trays(J2 %) him into dullness, coldness or worst of all rudeness. Instead of the student being
in control of the language, the language seems not to be in control of the students.

3. All of this can be very depressing and the student can start to feel very anxious. Working
in a foreign language is also very tiring, and the concentration and self-discipline required to
correct one’s mistakes is very great indeed.

4. But what can be done about these problems? Well,there are many ways in which the stu-
dent can help himself. It might be helpful if we deal with them under three broad headings.
Firstly, the student must set himself a number of realistic targets. Secondly ;he must work out a
proper method of study. Thirdly, he must try to adopt a set of attitudes which encourage
progress.

5. Bearing this in mind the student must concentrate on immediate short-term improvements
rather than vague long-term aims; he must adopt a systematic, thorough, economical, and
flexible method of study; furthermore, he must take positive attitudes towards language learn-
ing. The student should, therefore, involve himself as much as possible with the foreign cul-
ture, and should seek out opportunities to enjoy himself through it. Such enjoyment always
makes language learning quicker and more efficient.

(401 words)



NEW WORDS AND PHRASES

1. various a. HEFEHEL,ARH 6. positive a BHRH,.HEH.PWEH,H

2. adopt v RA.R4H B

3. medium n. /a. BE,ER,EFE, B 7. involve v. BABRA.ER. 88,4
s PENEPH . BER

4. fundamental a./n. HAA, LA, 8. opportunity = Hl&
EFEN,EAFIE 9. efficient o HXH,HEHH
5. flexible a. TFH,.HSHY . AEH 10. economical a. B, B (ZE)H

1. as regards: X F,EF 4. bear in mind: 2,12 F
2. worst of all; ¥R, BIREY 5. seek out; F,KH

3. in control of ; 24
READING COMPREHENSION

1. In this passage, the writer mainly talked about
A. the basic problems of learning a language
B. various possible solutions to these problems
C. both A and B
D. learning a language very useful
2. Which of the following is not the difficulty that a student meets in learning a language?

A. Unknown grammar and vocabulary. B. Reading slowing down.
C. Comprehension becoming less secure. D. Misunderstanding words.
3. How many solutions does the writer suggest in dealing with these difficulties?
A. one B. two C. three -D. four
4. The student should adopt the following methods except one.
A. systematic B. thorough C. flexible D. advanced
5. In this passage the writer suggested that the student should take attitudes to-
wards language learning.
A. negative -B. positive C. critical D. ill
CLOZE TEST

Bearing this _ 1 mind the student must concentrate 2 immediate 3 term im-
provements _ 4 than vague _ 5 term aims; he must __6 a systematic, thorough, eco-

nomical, and __7 method of study, _ 8 , he must take 9 attitudes 10 language
learning.

SENTENCE SCRAMBLE

I, problem, the, bear, be, how, look, baby, after, the, in mind, to
Japan, often, occur, in, earthquakes

try, explain, why, Tom, to, be, he, late

liberation, China, in, of, Japan, control, be, before

our, must, advanced, technique,country, catch, with, other, up, countries,adopt, in or-
der, to

AN ol S
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DISCUSSION CLUES

1. Do you have any difficulties in learning a language?
2. What do you think of the solutions the writer suggested?
3. What kind of persons do you think most suitable in learning a foreign language?

I. WHAT INFLUENCES OUR COLOUR

1. Heredity G {%) is not the only thing that influences our colour. Where we live and how
we live after we are born are important too. For instance, our genes influence how fat or thin
we are. But our weight depends mainly on how much we eat and how much exercise we get. In
the same way, our skin colour depends to a large extent on how much sunshine we get.

2. During the cold winter months, people keep themselves covered. A group of light-colourd
people will all seem to be pretty much the same colour in these months. But when summer ar-
rives and they go to the beaches, some will tan(Bfi &) darkly, some will tan lightly and a few
will not tan at all. Each one has i\p_llgr_it_g(_*l_ a different ability to tan, but the differences do not
appear until the conditions are right. An outdoors man will soon become pale if he changes to
an indoor job, while a desk clerk will take on a tan after a short vacation in the sun.

3. Sometimes people decide that being tanned is better than being pale. Sometimes they de-
cide the opposite.

4, C.enturies ago, most of the people in Europe were peasants and had to work in the fields
all day. Noblemen, on the other hand, did not have ¥ work: They staysd indoors and re-
mained pale. You could always tell a nobleman from a peasant because the peasant had a tan.
As a result, noblemen did their best to keep their skins as light as possible. A skin so pale that
the veins showed was considered a mark of great beauty.

5. During the Industrial Revolution things changed. Farmers left their fields and went to
work in factories, mines and mills, Working for long hours in dimly-lit factories and mines
made their skins pale. Wealthy people, however, could afford to travel to sunny countries.
They had’the leisure to lie around on the beaches and get a tan. Having a tan became a sign of
wealth,

6. In Western Europe and North America pale skin is no longer desirable. Instead of bleach-
ing themselves white with lemon (##) juice, many women spend their time under a sun-
lamp. The desire for a quick tan has led to the invention of pills(Z5#.) and lotions (3% ) that
darken the skin artificially without exposure to sunlight.

7. This has brought about another change. These pills and lotions can be bought by anyone
at any drugstore. A rich man can spend hundreds of dollars on a vacation in the sunny West
Indies and get his suntan there. But his lowest-paid clerk can have what looks like the same
tan out of a bottle for a few cents.

8. So there are three answers to the question “Where does our colour come from?” It comes
from the genes we inherit. It comes from the conditions in which we live. And it can come
from a bottle that we buy at the drugstore on the corner.

(489 words)
NEW WORDS AND PHRASES

1. mill » T ,BERHL 2. dim a. BEIRAY.BEEG . BB AHED
—_ 5 -



3. dimly ad. REIFEH , BE IR 6. artificial a. ATH, AEM

4, leisure =n. FWR, LR 7. drug = /v. Y. KBER . BEH THRE
5. juice n. CGKEIW,.H& 8. drugstore n. Z§J§
* * * ¥*
1. to a large extent; R KBE L 2. bring about: # 3
READING COMPREHENSION

1. The factors that influence our colour are the following except that
A. the genes we inherit
B. the conditions in which we live
C. a bottle that we buy at the drugstore on the corner
. how expensive our cosmetic is ,
2. Our skin colour depends on mainly how much we get.
~A{ sunshine B. water C. bath D. wind
3. During cold winter months, a group of light-coloured people will all seem to be pretty much
the same colour in these months because .
A. they do not go to the beaches B. they stayed at home
. C. they keen themselves covered D. they use more cosmetic
4. Centuries ago, in Europe, you could always tell a nobleman from a peasant because

A. a nobleman is born more beautiful than a peasant
the peasant had to work in the field and had a tan
. the peasant wore ragged clothes
D. a nobleman is easy to get pale
5.\2)£ring the Industrial Revolution, What happened?

Farmers’ colour changed to be pale. B. Farmers lost work.
C. Wealthy people got a tan in the fields, D. Having a tan became a sign of poorness.
CLOZE TEST

1  Western Europe and North 2 pale skinis 3 longer desirable. 4 of
bleaching themselves 5  with lemon juice, many women 6 their time 7 a sunlamp.
The desire __8 a quick tan has led to the __ 9 of pills and lotions that _ 10 _the skin arifi-

cially without exposure to sunlight.
SENTENCE SCRAMBLE

only, the, person, not, John, attend, meeting, yesterday, be, who, the
healthy, whether, you, or, be, not, depend, how much, exercise, on, get, you
I, go, sleep, to, do not, until, come, he, back, night, last

past, during, city, have taken, a, look, the, year, few, new, on, the
desirable, China, no, now, longer, in, abroad, going, be

DISCUSSION CLUES

1. Why do people’s opinions to colour change in different times?
What do you think of the use of pills and lotions?
3. What colour do you prefer? Why?

Ny

i
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UNIT TWO

[ . THE MEANING OF MARRIAGE

1. The cohesiveness(P§3R 1) of a family would seem to depend on members sharing certain
routine practices and events. For a growing share of the American labor force, however,
working shifts outside the normal daylight hours “what we here call shiftwork”—— makes
the lives of families difficult.

2. Existing research shows that both male and female shiftworkers report high levels of
stress and a sense of conflict (7 2€) between the demands of work and family life. But shift-
work couples still maintain a traditional attitude regarding the meaning of marriage and the ex-
pected roles of husband and wife. They expressed a willingness to do “ whatever it takes” to
approximate their view of a proper marriage, including giving up sleep and doing conventional
(%3 A9 ) things at unconventional hours. For the most majority of couples interviewed ——
even when wives worked outside their homes a proper marriage is characterized by a very clear
division of roles: husbands are “ providers” whose main responsibility is supporting the family;
wives are “ homemakers” who clean, cook, and care for husbands and children.

3. As couples met shiftwork schedules(B¥[E] ), however, initial expectations about what it
would take to create a marriage and family were put to test. One woman expressed her dreams
about what marriage was supposed to be;

4. It would make me feel like I had more of a home atmosphere, you know. That’s the way
I always expected being married having the husband go off, come in the evening and spend the
rest of the evenings together, you know that’s the way we thought it would be. It does not
work out that way.

5. The women’s definitions of a “ good husband” are typified by the following wife”s re-
sponse.

6. I expect him to be a good provider, and be there when I need him, loyal about the same
things as he would except out of me, except that I except him to control over me. But in a
manner of speaking when it’s time to be a man I except him to stand up and be one instead of
sitting back expecting me to do everying.

7. To husbands, a good wife was someone who was;

8. Understanding of what I feel go through at work. I need that respect at work, I hope I
get it at work. I want my wife to realize what I expect at work. I do not want her to give me
alot of shit(#41%) when I come home from work because——1I do not know if this makes
much sense.

9. These views seemed critical to maintaining families of the shiftworkers.

(431 words)
NEW WORDS AND PHRASES

1. routine n. BIFFAFE,B¥ TIE. K 3. male a./n. BYEGD . EHED
2. shift v, /n. B, %R, 835 4. female a. /n, W, BEN LF

—_ 7 —



5. stress . /u. KA, M0, B RIF.E 9. typify v fENEL AR, BE,.FHR

b4 10. loyal (t0) a BIRH, BB
6. characterize w. FE7R seeres Yk, REYE 11 critical o #IERYL SRS, R AH,E
% Ed
7. division n. 5,538,807, 8,4k, B8%:  12. approximate  a. /v. LS, L8 ;3
8. provider =z HtV¥E,BH{H L, ()R

READING COMPREHENSION

b traditional beliefs about marriage B. lack of control over time
.~ a very clear division of roles D. the demands of work
2. From the selection, we can conclude that female shiftworkers were not satisfied with

I 1. gfite of » shiftwork couples still hoped to maintain a stable life.

A. their work

B. jtheir children
\C/:heir husbands’ inability to protect the family and provide companionship
D. leisure activities
.. 3. What is implied by the author?
“% A. Shiftwork had a direct effect on the attitudes and behavior of family members.
‘ B, Shiftworkers could live a normal life.
Kﬁ\ Shif work couples had different ideas about marriage.
D. Female shiftworkers were satisfied with the time spent with their families.
4. In order to maintain the marriage of the shiftworkers, .
A. wives must learn to care for the children in the absence of their husbands
~B. shiftwork couples must manage their time and activities

C. wives must adapt their own feelings of boredom to their husbands’ work
. D. all of the above
‘\? 5. Tbe main idea of this selection is

LA constructing family life B. managing time and activities
C. the meaning of marriage D. living a normal life
CLOZE TEST

I expect him to __1 a good provider, and be there when I 2 him, 3 about the
same things as he would expect _ 4 of me, _ 5 that I expect him to control 6 me .
But in a manner of __7__ when it’s _ 8 to be a man I expect him to stand up and be one
_9 ofsitting back _ 10 me to do everything.

SENTENCE SCRAMBLE

all, go, countryside, the, to, him, except

parent, us, expect, my, to, become, useful, society, to
would, tomorrow, fine, it, be, it, wouldn’t

tell, what, man, me, the, no, make, sense

expect, come, him, when, need, him, I, to, I

ANl .

DISCUSSION CLUES

1. What do you think the role of man and woman in a family ?
—_ 8 —_



2. What’s your understanding of “ good husbands” and “ good wives”?
3. Would you like to have a family or remain single in the future?

I . THE BRANCH OF MATHEMATICS

1. Mathematics is an essential-and fascinating (% Af4) branch of human knowledge. It has
important uses in many areas of modern life, including science , industry, and business.

2. Mathematics can be defined simply as the study of quantities and relations. It used num-
bers and symbols to do this. This definition, however, does not explain that mathematics can
be divided into many different branches, There are, at least eight areas of maths generally
studied by elementary, secondary, and college students; arithmetic, algebra (fS¥(2£), geome-
try, trigonometry (= %) ,analytic geometry, calculus, probability (#E2&), and statistics.

3. Arithmetic can be divided into four basic operations; addition, subtraction, multiplica-
tion, and division. It is the simplest branch of math and is usually studied early in school. Af-
ter arithmetic, students usually study algebra. Algebra is more general than arithmetic. It uses
letters such as “x” and “y” to find unknown numbers. One interesting invention of algebra is
logarithms (3§ %{). These are usually found by referring to a logarithmic table.

4.  Geometry is generally learned in secondary schools. This branch of mathematics deals
with lines, angles, planes, and solids (37 {%). For purpose of teaching, geometry is often di-
vided into two branches, plane geometry ans solid geometry. Plane geometry deals with
shapes, such as circles and squares, that lie on a flat surface. Such shapes are in two dimen-
sions. Solid geometry deals with shapes that have three dimensions. Such shapes are spheres,
cubes, and pyramids.

5. The branch of mathematics that deals with the relations between the sides and angles of
triangles is trigonometry. Trigonometry also is often divided into two branches: plane
trigonometry and spherical trigonometry. Plane trigonometry deals with triangles on a flat sur-
face. Spherical trigonomery deals with triangles on the surface of a sphere. Trigonometry is
very useful to navigators, astronomers(RKX2%), and surveyors.

6.  Analytic geometry is the branch of mathematics that applies algebra to geomotry. It is of-
ten used by engineers and physicists. An example of analytic geometry is the drawing of a
curved line to represent an algebraic equation(JFFER) (e. g . “y =3x").

7. The branch of mathematics that deals with changing quantities is calculus. Calculus has
applications in all areas of science. Without calculus, the calculations necessary for landing on
the moon could not have been made.

8. Two final subdivisions of mathematics are probability and statistics. Probability is used to
make predictions about whether something will happen, and has a wide range of applications.
Statistics is used to analyze large bodies of numbers. It is used in all the sciences to organize
and analyze masses of facts and draw conclusions from them.

(528 words)
NEW WORDS AND PHRASES

1. define v, £ oo FEY,BE, M2 5. multiply (by) v F, M T, 1,1
2. geometry n. JL{T(2%) i, B5

3. substract (from) v, @EE 6. multiplication  n. Fe¥:

4. substraction n. ¥ 7. division n. bR, a8 B LB

_9__



8. angle =n f,AE,.FH 12. survey v. /n. {ELBEE, £ EFHM
9. sphere n. BR,ER{EK,UH 13. surveyor n #IER.MER

10. cube n MFE,EFH,LFH . ZKE 14. curve n /v. BIR, Bl BHY: FS
11. navigator n. SR B KA

READING COMPREHENSION

1. What is mathematics?
A. Tt is numbers and symbols.
B. It is addition, substraction, multiplication and division.
\ &¢It studies quantities and relations.
D. It is a very uninteresting branch of human knowledge.
2. Which of the following is NOT the branch of mathematics?
A. arithmetic B. calculus C. statistics \D/ engineering
3. Which is NOT true about geometry?
A. It is generally learned in secondary schools.
B. It deals with lines, angles, planes, and solids.
C. ]t is often divided into plane geometry and solid geometry.
\D/ Solid geometry is more important than plane geometry.
4. Analytic geometry is the branch of mathematics }hat applies

A. geometry to algebra ~JB- algebra to geometry
C. arithmetic to algebra D. geometry to trigonometry
5. is necessary for the calculations landipg on the moon.
A. Probability B. Statistics \C/ Calculus D. Algebra
CLOZE TEST

Two 1 subdivisions of mathematics are probability and statistics, Probability is __ 2
to make predictions 3 whether something __ 4 happen, and has _ 5 _ wide range of

6 . Statistics is 7 to analyze large bodies of _ 8 . It is used in __9 the sciences to

organize and analyze masses of facts and __10 _ conclusions from them.

SENTENCE SCRAMBLE

1. oil, many, in, life, modern, have, including, important, cooking, use,heating, lighten-
ing, and

2. phenomenon, kind, this, of, define, be, can, as, corruption

3. multiply, four, be, twelve, three, to, by

4. purpose, stealing, of, for, thief, close, the, to, Mary, come

5. energetic, deal, a, problem, number, large, of, with, manager, the, every, have to, day

DISCUSSION CLUES

1. Why is trigonometry very useful to navigators, do you know?
2. Do you know some uses of mathematics in business or industry?
3. Do you have some difficulties in learning mathematics?

Il . LESSONS FROM OVERSEAS

1. As world travel increases, nation learn from each other. In the United States today there



do well to remember thiat people there consider it impolite to use the left hand for passing food
at table. The left hand is supposed to be used for washing yourself. Also in India, you might
see a man shaking his head to another and think that he is disagreeing. But in many parts of
India, shake of the head means agreement. Nodding your head when you are offered a drink-
ing in Bulgaria will most probably leave you thirsty. In that country, you shake your head to
mean “yes” a nod means “no”. At a meal in countries on the Arabic Peninsula, you will
find that your glass is repeatedly refilled as soon as you drink up. If you think that you have
had enough, you should take the cup or glass in your hand and give it a little shake from side
to side or place your hand over the top.

3. In Europe it is quite usual to cross your legs when you are sitting talking to someone even
at an important meeting. Doing this in Thailand, however, could bring about trouble. It is
considered too informal an attitude for such an occasion. Also you should try to avoid touching
the head of an adult it’s just not done in Thailand.

4. Attitudes to women differ from place to place, in Japan, for example, it is quite usual for
men to plan evening entertainment (§& fk) for themselves and leave their wives at home. In
Europe, such attitudes are disappearing.

( 450 words)
NEW WORDS AND PHRASES

1. custom = 4, KRG, WX, EH 7. disappear v. AW,k
2. pleasant a. 4 AMHREY, ITABEKRY 8. disagree (with) v. 4K, AR®E,A
3. manner = 75, ¥1E,3L5R,.404E —¥L, A iEH
4. probably ad. B iF, KH#E,BA[EE 9. offer wv./n. 85F,R4E; R MY, B
5. consider  v. Ay, Fdeeceee B, ER,% 10. informal a. AMILF W, FEERXHIE
LR EXH
6. impolite a. AILERGY . HEH, LB 11. occasion n. &, BFE]BFHL, W&
* * * *
1. line up: () HERBA, HERAT 3. be supposed to; (F)IAN NZ, (BORIE

2. at table = at a meal: ZE#4E, #&, JFH 4. bring about; S, 3| ﬁ?—?ﬁ

. NOTES
1. the Arabic Peninsula FTRL{A 3 &
2. Thailand EEHELZ)
3. Bulgaria FmFEELZ)

READING COMPREHENSION

1. What’s the main reason for these three foreign gentlemen’s trouble at the bus stop?
A. They wanted to get on to the bus first.
B. The English people got angry with them.
C. They didn’t know the British custom of lining up for a bus.
D. They didn’t want to obey the British customs.
2. “The three foreigners seemed all at sea” means“ ”.
A. They were sailing across the sea



